HEHB AXE4 FR A HEEF) [AAREF) DU LRABEA#EE) [V ILRBEAN#EEZ)

2015/11/9|$r ABR(H A EIRS > FJLR)  [1010RELEFH 1 1

2015/11/12|FF NER(FREIRS P ILR) 10200 LLiE L 1 1 1 1

2015/11/11 | FT NER(FAR EIRS VP ILR) 1030 LUK E F 1 0 0 0

2015/11/16|#T NER(FA - EIRS >V F LX) |1040[1LLFE R 1 1 3 3

2015/11/17|#F NBR(H A EI/RS P )LR)  [1050RL—& 1 1 0 0
2015/11/4|$f NER(F{A - IR S ILR) 1060 LLIBREEE 1 1 1 1
2015/11/9|#f NER(F{A - EIRS > F LX) [1070F LR 1 1

2015/11/12|#F NER (A EIRS > F JLR) 1080 LU T % 1 1 2 2

2015/11/11 | FF NER(FAEIRS VP ILR)  [1090FK LT ¥ 1 0 0 0

2015/11/16|FT NER(F{A - EIRS P ILR) 11006 LLfEHE 1 0 0 0

2015/11/13|#F NBR(FI{A - #iR > )LR)  |[1110E87 1 0 0 0

2015/11/12|#Ff NER(HAEIR VT ILR)  |[1120lLUB&ZF 0 1 0 0

2015/11/17| T ANBR(FI{K E#3R 2 F ILR) (11308 1 1

2015/11/11 | FF NER(FAREIRS VP ILR)  [1140BHER =B 1 0 0 0

2015/11/13|FT NER(FA - EIRS VP ILR) 1150 E KK E 1 0 2 2

2015/11/11 | FT NBR(FAEIRS U F ILR) | 11600 LSRR 1 0 0 0

2015/11/14|FF NBR(FA BRSSP ILR) 1110 EXKKE 1 1 0 0
2015/11/7|FF AR - BRIk JILR)  [1180E Ra R 0 0 0 0

2015/11/14|#f NBR(FI 4K - #3R > J JLR)  [1190E L 0 0 0 0

2015/11/14|FF NBR(HA BRSSP ILR) 1220815 E 0 0 0 0
2015/11/2|#F NBR(RI{A - IR U ILR) 123018 38R 1 0 0 0

2015/11/16|#T ANBR(FI{A EiR 2 J JLR) (2010 (5 1 1 2 2

2015/11/16|FT NER(FAEIRS VT ILR) 2020 EEFEE 1 0 3 3
2015/11/5|$r NBR(F A FEIRS T ILR)  [2030EF 1 1 0 0

2015/11/13| T NBR(FA BIRS VT ILR) 2040 EFHEEE 1 0 0 0
2015/11/5| T NER(FIR BRSSP ILR) 20502 B 1 0 0 0

2015/11/14|FF NER(HA - EI/RS Y )LR)  [3010F5K=F 0 0 0 0
2015/11/7|FF NBR(FIA - EIRS VT JLR)  |3020F 1 1 0 0
2015/11/6|#F NER(FHI{K -2k > )LR)  |3030# F 1 0 0 0

2015/11/11 | FF NER(FR BRSSP ILR)  [3050F 1R 0 0 0 0

2015/11/10|#r NER (A EIRS T ILR)  |30601E Rl EkEE 0 0 0 0
2015/11/9|#f ABR(BA BRSOV JILR)  [3070[ LLF= 1 0 0 0

2015/11/10|FF NER(F{A - EIRS P ILR)  |3080[ LU & 1 1 0 0

2015/11/13| T NER(FAEIR VT ILR) 40102 B FE 1 1 0 0

2015/11/10| Ff NBR(HA EIRS T ILR)  [4020 2 BRIk 1 1

2015/11/10|#f A BR(FA - EIRS VT ILR) 40302 Bim 1 0
2015/11/9|#F NBR(HI{A - BIR VT ILR)  |40408 Bidh dith 1 1
2015/11/9|FF NBR(HI{A - BIR VT ILR)  |4050E Bima ¥ 1 1

2015/11/18|#T NBR(FAEIRS VT ILR) 4060 BT £ 1 0 0 0
2015/11/9|#f NBR(HA - EIR VT ILR)  |4070KE T 1 0

2015/11/10|FF NER(FA BRSO VT ILR)  |4080E2 Bk 0 1 0 0

2015/11/12|FF NER(FA - EIRS VP ILR) 40902 B2 1 1

2015/11/14|$F NBR(FI{A ER VT JLR)  |4100E 8K 0 0 0 0
2015/11/9|$r ABR(H A EIRS T ILR)  [501088%t 1 1 1 1
2015/11/4|FT NER(FAEIRS VP ILR)  |502048%1 R 1 1 1 1

2015/10/16|#f NER(F{AEIR VT ILR)  |50305 B 1 1

2015/11/10| $F ABR(F{A EIR VT ILR)  |50405 1 0

2015/11/10| T NBR(FI{A 23R 2 ILR)  |50505 2 0 1 0 0

2015/11/12|#f NER(FI{K #3R 2 ILR)  [5060%T R 1 1

2015/11/18|#T NBR(H{AEIRS P ILR)  [50705 2 HE 0 0 0 0

2015/11/11 | FF NBR(FI{K ER U JLR)  |6010E S 1 1 0 0
2015/11/5|FF NER(HI{K - IR VT ILR) 6020 E B E 0 1 0 0

2015/11/10| #r NER(FI{K 3R > F JLR)  |6030%E i 1 1 0 0
2015/11/2|#Ff NER(FA BRSSP ILR)  |6040%5 MR 1 1

2015/11/11 | FT N B (A EIRS > F JLR)  |6050% ] T 1 0 0 0
2015/11/4|FF NER(RI{A - B3R 2 U )LR)  |6060F R 1 0 0 0

2015/11/10|#f NBR(FI{A 3R 2 JLR)  |60705K 4} 1 0 0 0

2015/11/13|FF NBR(HA EI/RS P ILR) (6090 HFE 1 1 1 1
2015/11/9|#T ABR(BA Bk > F LX) [6100f LLUBER 1 0 0 0

2015/11/10|FF NBR(FA IR VP ILR)  |6110BEEER 1 0 0 0
2015/11/7| 1 ABR(HA BRSO VT ILR) (61208 MO FE LS 0 0 0 0
2015/11/9|#F NBR(RHIA - EIR 2 J )L R)  |7010;E L 1 1

2015/11/10|#f N B (A EIRS VT ILR)  |7020;E LB E 0 0 0 0

2015/10/30| #T N ER(FI{A 23R > F JLR)  |7030;F LT 1 0 0 0

2015/11/11 | T NBR(FI{K 2 E3R > JLR)  |704085% 1L 1 1

2015/11/13|#T ANBR(F{A - #3R > J JLR)  |T1050E(E 1 1 0 0

2015/11/17|#r NBR(F{A - EIRS >V F LX) |707055 L 0 0 0 0

2015/10/29|#f NER(FI{A - 23R 25 JLR) | 7080835/ H 0 0 0 0
2015/11/4|#F NER(RI{A - IR 2 JLR)  |710904K 87 1 0

2015/11/11 | FF NBR(HA BRSSP ILR)  [T100;E ILUE 1 1

2015/11/11 | FT NBR(HAEIR VT ILR)  |T1105E4E 1 1 0 0

2015/11/16|FT NBR(FI{K #IR VT ILR)  [T1204E5 0 0 0 0

2015/11/11 | FT ANB(HAEIRS VP ILR)  |[T130RILSE 1 1 1 1




